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I' : Reflection coefficient for waves
approaching from the left.

A @ Refraction coefficient for waves
approaching from the left, A =1+T

»

I : Reflection coefficient for waves
approaching from the right.

A1 Refraction coefficient for waves
approaching from the right, A = 1+T"
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Voltage Lattice Diagram

5

Travel Time Units

where 1p.u. current =1000V/400 Q or 2.5 Amps
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Cable

Source voltage:

Unloaded

distribution

transformer

L=3000m L=100m C z :
Line Cable CcB

Characteristic impedance Z;;;,. = 400 Q

Line length Lj;,. = 3000 m

Propagation velocity of the electromagnetic waves
Vline = 300 000 km/s

Travel time tjjp. = 10 ps

Characteristic impedance Z,pe = 40
Cable length L = 100 m

Propagation velocity of the electromagnetic waves
Veapie = 100000 km/s
Travel time 7pe = 1 ps

v(t) = cos(wt) per unit, frequency 50 Hz
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